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WALK-IN-TEST I
PAPER I - UNIT- III: GENERAL APTITUDE & MENTAL ABILITY

Time: 30 min Total marks: 50
SECTION A
2x10=20
Answer not exceeding 150 words each

1. Answer the following questions
Letteu(phld eleimedehdE allenL w6l

a. Find the greatest number of 6 digits exactly divisible by 24, 15 and 36
24, 15 wBBID 36860 FAWTS UGULSSIQUI LOSLOUTW 6 Bevdhd 6lemTeneml SRl iiLa|D

Explanation
The greatest 6 digits number is 999999
First we have find the LCM of 24, 15 & 36

2|15,24,36

215,12,18
315, 6, 9

5 2,3
LICM=2x2x3x5x2x3=360

999999
= 360

Reminder is 279
+ 999999 — 279 = 999720

Hence 999720 is the greatest 6-digit number which is exactly divisible by 24, 15 and 36.

b. A bag contains one rupee coins, 50p coins, 25p coins in the ratio 5 : 6 : 8 amounting to
Rs.210. Find number of coins of each type and total number of coins
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@M UUTed @@ epuUTUl, 50 edUFT, 25 WUSFT [HIETIRIGET 5 : 6 : 8 elep aldlHsHdHe0
® eiteniedr. BrewIWmIG6ler Gomdhg L qpumul 210, 6lafled @EICGUTH 6UNS  [HTERILIKIG6IT 60T
oTeRIeNHem® LOBBID OLOTHSH HTENTLIRIG6T6I  6T6uT60NHMBEN IS  HEmTLSIUIGLD.

Explanation

Given that a bag contains 1rupee, 50 paise (0.5 rupee) and 25 paise (0.25 rupee) coins
in the ratio 5:6:8 and the total amount is 210Rs.

Let the no.of 1 Rupee coins, 0.5 Rupee coins and 0.25 Rupee coins be 5x, 6x and 8x
respectively

So the total amount

= 5x (1) + 6x (0.5) + 8x (0.25) = 210

= 5x +3x +2x =210

= 10x =210

>x=21

Hence, the no.of 1Rupee coins = 5x =5 x 21 =105
No.of 50 paise coins = 6x = 6 x 21 =126

No.of 25 paise coins = 8x = 8 x 21 = 168

And the total no.of coins = 105 + 126 + 168 = 399

Operating System - Directs the computer how to operate. It acts as a mediator between
the hardware and the application programs that are used for work. This allows access to
computer files, loads application programs into memory and closes programs.

M-Governance is the use of mobile or wireless to improve Governance service and
information "anytime, anywhere". M-Governance is not a replacement for e-Governance,
rather it complements e-Governance. m-Governance takes electronic services and makes
them available via mobile technologies using devices such as mobile phones.

2. Write a short on the following
ettau(meussiouBdii@ Fmieiiy euenys
a. Operating System
HuIsEG 6D
b. m-governance
maLICLS EHanD
c. 5G
58D FHemev(Lpens
2 1 Page
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In telecommunications, 5G is the fifth generation technology standard for broadband
cellular networks, which cellular phone companies began deploying worldwide in 2019,
and is the planned successor to the 4G networks which provide connectivity to most
current cellphones.

. USB Port

SFvGH OFHTLT LT enL

USB Port - The Universal Serial Bus is accessed through small rectangular port on the front
or back of computer that allows peripheral devices such as digital cameras and external hard
drives to connect to the computer. See Ports for other types of connections.

e. Mother Board
STUILILIGOENS

Motherboard - The circuit board that functioning parts of the computer connect to is the
motherboard. The CPU, RAM and cache all plug into the motherboard.

SECTION- B
2x15 =30
Answer not exceeding 250 words each
3. The temperature of two cities A and B in a winter season are given below
Temperature of City A (in degree Celsius) 18 20 22 24 26
Temperature of city B (in degree Celsius) 11 14 15 17 18

31 Pane

Find which city is more consistent in temperature changes?

e pHIEST A woppid B uler @efiT smeuddled MHeveyld Geulimensy  Siemeyser &G

QsTHHBIILIL (H6iT6MT60T.
BBID A-6i1 GeuliuBleney (198l GgedFuwerd) 18 20 22 24 26
B&BJD B-air Geuliuplenso (19 GgFevfuwierd) 11 14 15 17 18
6P BBILTEIH GoulilBlensey TBILTHSH60 DIHBHLOTET HleneVSHHETND 6B T6uwTL Gi?
Explanation
City A City B

X d=x-X d2 X d=x-X d2

18 -4 16 11 -4 16

20 -2 4 14 -1 1

22 0 0 15 0 0

24 2 4 17 2 4

26 4 16 18 3 9

110 0 40 75 0 30
Now
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https://en.wikipedia.org/wiki/Telecommunications
https://en.wikipedia.org/wiki/Technical_standard
https://en.wikipedia.org/wiki/Broadband
https://en.wikipedia.org/wiki/Cellular_network
https://en.wikipedia.org/wiki/Mobile_network_operator
https://en.wikipedia.org/wiki/4G
https://en.wikipedia.org/wiki/Cellphone
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Standard deviation n

:E:Jg

0=2.828=2.83
Coefficient of variation, C.V = §x1oo
X
_283 %100
22
_ 283
22
=12.86%

J. The coefficient of wvariation for the
temperature of city A is 12.86%

ie., C.Vof city A < C.V of city B

Standard deviation n

:E:Jg

o =2449 =245

Coefficient of variation, C.V = g x100
X

_ 245
15
245
15
—~16.33%

=x100

The coefficient of variation for the
temperature of city B is 16.33%

" City A is more consistent in temperature change.

Answer the following questions
Letteu(phld eleimedehdE allenL uler

a. The LCM of two numbers is 14 times of their HCF. The sum of LCM and HCF of those
number is 600. If one number is 280 then find the other number

010

clemibemasl &AM  OUTHIDLBISTOIH — Sjeweudener UG  QuTghl  smyenilulles

14

WLRISTGWD. WBFAB GurgioL BiG wwBmid WHouwm Gurgl sryepiulear gmBHeo 600 LS. @b
cTeweITedl 280 6Telled LOBOMBT(H 6TEwTIeN6IIDH  SHT6wIH

Explanation
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Let the other number be x
Giver:LCM +HCFE =600

= [4HCF +HCFEF =600

= 13HCF =600

= HCF =40

= LCM =14 « 40 = 560

Since HCFxLCM=Product of 2 numbers

==40 560 =280 < x

40 = 560
:x:—
280
=x=40=2
= x =80

hence the other number is 80.

b. Vaidegi sold two sarees for ¥ 2200 each. On one she gains 10% and on the other she loses
12%. Calculate her gain or loss percentage in the sales.
»aBxsd, Bm GCmevdemen Heom 2200 B oIBprer.  g@amlar  18a 10 Fpeis
AeoTuGHmSWD BoBTeamer g 12 F5Hald BLLSMSULD DIMLHST6T 6lelsd, Censvsemern
alBmaHled Sleueflelr BeoTUD BIEVVH BLLEF FHaIHHMBDH BTN,

Explanation
Saree 1
The selling price is Rs.2200, Let cost price be C.P1, gain is 10%.

We need to find C.P; using the formula
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ino
spzoa@ﬁgm”mj
100

= 2200 = C.Pl(l+ ﬂj
100

~.CR = ZZOOX@ =2000
110

Saree 2
The selling price is ¥ 2200. Let cost price be C.P», loss is given as 12%.

We need to find CP; using the formula

0
Sona@7m$4j

100

= 2200=C.P, 1—£
100

100 —12)

=C.P, x(
100

=C.P, xﬁ
100

_2200x100

~.C.P, = 2500

.. Cost price of both together is C.P1 + C.P2

=2000 + 2500 = 4500

Selling price of both together is 2 x 2200 = 4400

Since net selling price is less than net cost price, there is a loss.
Loss = Net cost price - Net selling price

4500 - 4400 =100

100

o loss % = x100
00

100
45
20
)

=2Z%

:Zg%loss
9
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Saree 2 :

The selling price is 2200, let cost price be CP5, loss is given as 12%. We need to find CP5

using the formula as before,

loss% L
0 and substituting the values

S.p = C.PQ(1 -

12
~CPhy(1- =
2200 2( 100)

100 — 12
= CPyx | ———=
100

= CPy x —
27 100

2200 x 100

“CPs =
2 88

= 2500
~. Cost price of both together is C.Pq + C.P

= 2000 + 2500 = 4500 ...(1)
Selling price of bath together is 2 x 2200 = 4400 ...(2)

Since net selling price is less than net cost price, there is a loss.

loss
Loss % = ——— x 100
cost price

Loss = Net cost price — Net selling price

(1) - (2) = 4500 — 4400 = 100
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